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PROGRAM TEST
IMPLICIT NONE
REALX8 a

a = dsqrt (2.d0)
WRITE (%, ‘(A4,F7.4)’) ‘a=" a

STOP
END PROGRAM TEST
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PROGRAM TEST
IMPLICIT NONE
INTEGER i
REALX8 x, y

DOi=0, 10

x = 0.1d0xdfloat (i)

y = dexp (x)

WRITE (%, ‘(2F10.5)") x,y
END DO

STOP
END PROGRAM TEST
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PROGRAM SAMPLE_A

IMPLICIT NONE

INTEGER m

m=0

10 CONTINUE CHDITONEBEESZ210ICIEET S

m=m+ 1 MODfiE% 118X07

IF (m .LE. 5) THEN MOEDSLI T THNIELL T OEEEZTTD
WRITE (%, “(14)’) m
GOTO 10 NBS100TICBETS

END IF

STOP <HAOER>

END PROGRAM SAMPLE_A
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PROGRAM SAMPLE_B
IMPLICIT NONE
INTEGER n, s

s=0
DOn=1,5
S =8+ Nnkx2
END DO
WRITE (x, ‘(A5,15)’) ‘SUM =" s

STOP
END PROGRAM SAMPLE_B

PROGRAM SAMPLE_C
IMPLICIT NONE
INTEGER n, s

s=0
nh=0

10 CONTINUE

n=n+1
S =8+ nk%x2

IF (n .LT. 5) THEN
GOTO 10
END IF

WRITE (%, “(A5,15)') ‘SUM =" s

STOP
END PROGRAM SAMPLE_C
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PROGRAM SAMPLE_D
IMPLICIT NONE
INTEGER n, a

n=1
10 CONTINUE
a =n¥x2
IF (a .LE. 100) THEN
hn=n+1
GOTO 10
END IF
WRITE (%, “(A3,15)") ‘n="/n

STOP
END PROGRAM SAMPLE_D
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PROGRAM SAMPLE_E
IMPLICIT NONE
INTEGER i, N
REAL*8 L_x, X, S

N=100
Lx =1.d0
s = 0.d0

DOi=0, N-1
x = dfloat (i) ¥L_x/dfloat (N)
s = s + dsqrt (x)

END DO

(BLicE)

s = s/dfloat (N)
WRITE (%, ‘(A3,F14.10)°) ‘s="°s

STOP
END PROGRAM SAMPLE_E
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